4.6-4.7 first-order linear systems

Monday, March 8, 2021 3:04 PM

Recall! We can convert higher-order ODEs into a system of first-order ODEs $(n) + a_1 \times + a_2 \times + \cdots + a_{n-1} \times + a_n \times = g(t)$.

=)
$$\frac{dX}{dt} = AX + G(t)$$
, where

$$X = \begin{bmatrix} x_1 \\ \vdots \\ x_n \end{bmatrix}, A = \begin{bmatrix} 0 \\ \vdots \\ 0 \\ 0 \end{bmatrix}$$

$$\begin{bmatrix} a_n - a_{n+1} - a_{n+2} - a_{n+1} \\ \vdots \\ 0 \end{bmatrix}$$

$$\begin{bmatrix} con paring matrix \end{bmatrix}$$

Solving linear systems:
$$\frac{dX}{dt} = A(t) \times (t) + G(t)$$

 $\times (t) = X_h(t) + X_p(t)$, where $X_h(t) = A(t) \times (t)$
homogeneous particular $X_p(t) = A(t) \times p(t) + G(t)$
solution solution

(in general)
not just
systems arising
from higher-order
OPEs

Let $\phi_{n}(t)$, ..., $\phi_{n}(t)$ be linearly independent sol. to the homog eqn.

Then we have fundamental matrix of solutions $\Phi(t) = [\phi_{n}(t)]$

Note det $(\Phi(t)) \neq 0$, because of linear ind.

$$X(t) = \Phi(t) \cdot \Phi^{-1}(t_o) \cdot X_o + \Phi(t) \int_{t_o}^{t} \Phi^{-1}(s) G(s) ds$$
where $X(t_o) = X_o$.

Constant coefficients

$$\frac{dX}{dt} = AX$$
, where $A: (a_{ij})$, $a_{ij} \in \mathbb{R}$.

By Picard iteration, $\chi(t) = e^{At} \chi_0$, where

$$e^{At} = I + At + A^2 \cdot \frac{t^2}{2!} + A^3 + \frac{t^3}{3!} + \cdots = \sum_{k=0}^{\infty} A^k \cdot \frac{t^k}{k!},$$

 E_{X} . Y_{0} . Suppose $A = \begin{pmatrix} a_{11} & 0 \\ 0 & a_{21} \end{pmatrix}$, $X_{0} = \begin{bmatrix} x_{0} \\ Y_{0} \end{bmatrix}$

$$\begin{array}{cccc}
At & \begin{pmatrix} e^{a_{11}t} & 0 \\ 0 & e^{a_{21}t} \end{pmatrix}. & Then & X(t) - e^{At} X_{o} = \begin{bmatrix} e^{a_{11}t} \\ e & X_{o} \end{bmatrix} = X_{o}e^{a_{11}t} \begin{bmatrix} 1 \\ 0 \end{bmatrix} + Y_{o}e^{a_{22}t} \begin{bmatrix} 0 \\ 1 \end{bmatrix}$$

In general, if can find eigendecomposition of A with a linearly ind. eigenvectors can find solutions to ODE.

Case 1= let 1, ,..., In ER be eigenvalue of A with linearly ind, eigenvectors Vi.

Then for $\dot{X}(t) = A(t) \times (t)$, we have solutions $\dot{X}(t) = \sum_{i=1}^{n} c_i V_i e^{\lambda_i t}$ $\dot{X}(t) = c_i V_i e^{\lambda_i$